IMSP SPEED GAMES 2019
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. . — e = Rd.1 Rd.2 Rd.3 Rd.4 Rd.5 Rd.6 TOTAL
e ||| Feahie P B | Point | B Point | JEL Point | JE{L Point | JE(L Point | JE(L Point | Point | B
1 15 |# FR IND)—RT— 2 15 5 8 1 20 1 20 1 20 2 225 105.5 1
2 1 |&5# EEx IND—RT—2 3 12 1 20 2 15 47 2
3 72 |BE M F—LTKC 4 10 3 12 5 8 2 15 45 3
4 17 |BE —& IND—RT—2 1 20 4 10 6 6 36 4
5 36 |EH BN 1 30 30 5
6 4  [iRiD & BEMAX RACING 3 12 4 15 27 6
7 43 |;EE s IND—RTF—D &TTAHY 2 15 4 10 25 7
8 31 iy E— 3 18 18 8
9 2 BT ER F—LTKC 2 15 15 9
10 5 HE B 5 12 12 10
11 48  |HEH AE MART&/NT—RTFT— 3 12 12 11
12 50 [HAX {#X BEMAX RACING 3 12 12 12
13 24 |E3L AKE 6 9 9 13
14 18 | &% 7 6 6 14
15 4 | KF & 8 45 45 15
FDA—T>
. . — . . Rd.1 Rd.2 Rd.3 Rd.4 Rd.5 Rd.6 TOTAL
o ||| Bodae= ARSI JBE | Point | B Point | JEM Point | JEM Point | JEM Point | JEM Point | Pont | JBR
1 1 [ERN EA I JLARKC 1 20 2 15 1 20 2 15 2 15 3 18 103 1
2 46 | = TEAM KEI 1 20 1 20 1 20 1 30 90 2
3 43 | KIE £ MART&/NT—RT— 2 15 3 12 2 15 3 12 3 12 2 225 88.5 3
4 16 |4%M B F—LTKC 3 12 4 10 3 12 4 10 4 15 59 4
SST a4
. . — e = Rd.1 Rd.2 Rd.3 Rd.4 Rd.5 Rd.6 TOTAL
e ||| Feahe P B | Point | B Point | B Point | JEL Point | JEL Point | JEL Point | Point | B
1 17 |hE =4 F—LTKC 1 20 1 20 1 20 5 8 3 12 1 30 110 1
2 5 el F— F—LTKC 3 12 2 15 3 12 4 10 1 20 2 225 915 2
3 26 |BE W F—LTKC 4 10 3 12 4 10 2 15 4 15 62 3
4 22 |Ei st INT—RT—2 2 15 1 20 35 4
5 18 |I% —k F—LTKC 2 15 3 18 33 5
6 72 |EEBE EM F—LTKC 5 8 5 12 20 6
7 3 a5 X F—LTKC 4 10 6 6 16 7
8 7 HR = IND—RT—D 2 15 15 8
9 12 | T# BN F—LTKC 3 12 12 9
10 14 |BEk = F—LTKC 4 10 10 10
YAMAHA SS
. . — e = Rd.1 Rd.2 Rd.3 Rd.4 Rd.5 Rd.6 TOTAL
o ||| Feaie P B | Point | B Point | B Point | JEL Point | JEL Point | JEL Point | Point | B
1 24 |#E & IND)—RT— 2 15 2 15 4 10 1 20 1 20 2 225 102.5 1
2 27 |K# K BEMAX RACING 1 20 1 20 1 20 4 10 3 12 3 18 100 2
3 47 |F#E KZE BEMAX RACING 3 12 3 12 2 15 2 15 2 15 1 30 99 3
4 17 [E% X IND—RT—2 4 10 5 8 5 8 3 12 4 10 DNF(2) 0 48 4
5 48  |BF E—HR BEMAX RACING 4 10 3 12 5 8 DNF(4) 0 DNF(14) 12 42 5
6 9 AR BBk 4 15 15 6
YAMAHAR—/%—SS
. . — . = Rd.1 Rd.2 Rd.3 Rd.4 Rd.5 Rd.6 TOTAL
o ||| Feaie P B | Point | B Point | JEL Point | JE(L Point | JE(L Point | JEL Point | Point | B
1 1 ER EA T JLARUKC&EETC 1 20 3 12 2 15 1 20 1 20 1 30 117 1
2 57 |RR4&E ft— F—LTKC 2 15 1 20 1 20 2 15 2 15 3 18 103 2
3 6 wWm BA F—LTKC 3 12 2 15 3 12 DNF(13) 12 2 225 735 3
4 36 5i%E #5h F—LTKC 3 12 12 4
5 34 | RBA F—LTKC 4 10 10 5




